Challenge

Alex has 22 pencils.
She puts them into pots.

Each pot has 2 pencils.

How many pots does Alex need?

22 + 2 =

Alex needs pots.

A boat can fit 5 people.

Work out how many boats are needed for
45 people.

Tommy has 100 stickers for his sticker book.
He can fit 10 stickers on each page.

How many pages can Tommy fill?

Tommy can fill ‘ \ pages.




ANSWERS

Alex has 22 pencils.
She puts them into pots.
Each pot has 2 pencils.

How many pots does Alex need?

22 + 2 = 11

Alex needs 11 pots.

A boat can fit 5 people.

Work out how many boats are needed for
45 people.  45+5=9

Tommy has 100 stickers for his sticker book.
He can fit 10 stickers on each page.

How many pages can Tommy fill?

100 |*| 10 |=| 10

Tommy can fill ‘ 10 \DDQES.




